

INEQUALITIES FOR CERTAIN FINITE DIFFERENCE AND SUM-DIFFERENCE EQUATIONS

B. G. PACHPATTE

(communicated by D. Bainov)

Abstract. The aim of the present paper is to establish some basic finite difference inequalities which provide explicit bounds on unknown functions. The inequalities given here can be used as tools in applications in the theory of certain finite difference and sum-difference equations.

1. Introduction

During the past few years the study of finite difference equations has acquired a new significance. As a consequence, the study of various classes of finite difference equations has led to the discovery of a number of new finite difference inequalities. In 1993. Pachpatte [6] proved the following useful finite difference inequality.

LEMMA. Let $u(n)$ and $f(n)$ be real-valued nonnegative functions defined on $N_0 = \{0, 1, 2, \dots\}$ and $c \geq 0$ is a real constant. If

$$u^2(n) \leq c + \sum_{s=n+1}^{\infty} f(s)u(s),$$

for $n \in N_0$, then

$$u(n) \leq \sqrt{c} + \frac{1}{2} \sum_{s=n+1}^{\infty} f(s),$$

for $n \in N_0$.

In many cases when studying the behaviour of solutions of certain classes of finite difference and sum-difference equations, the bounds provided by the earlier inequalities are inadequate in applications and we need some new and specific type of finite difference inequalities. In this paper, we offer some basic finite difference inequalities in one and two independent variables which claim their origin to the inequality given in Lemma and can be used more conveniently in the study of certain classes of finite difference and sum-difference equations.

Mathematics subject classification (2000): 26D10, 26D15.

Key words and phrases: Inequalities, finite difference and sum-difference equations, finite difference inequalities, explicit bounds, two independent variable generalizations, nonincreasing function.

2. Main results

In what follows R denotes the set of real numbers and $R_+ = [0, \infty)$, $N_0 = \{0, 1, 2, \dots\}$ are the given subsets of R . We use the usual conventions that empty sums and products are taken to be 0 and 1 respectively. We assume that all the functions which appear in the inequalities are real-valued and all the sums and products involved exist on the respective domains of their definitions.

An interesting and useful inequality is established in the following theorem.

THEOREM 1. *Let $u(n), a(n), b(n), f(n), g(n)$ be nonnegative functions defined for $n \in N_0$ and $p > 1$ is a real constant. If*

$$u^p(n) \leq a(n) + b(n) \sum_{s=n+1}^{\infty} [f(s)u(s) + g(s)], \quad (2.1)$$

for $n \in N_0$, then

$$u(n) \leq \left[a(n) + b(n)A(n) \prod_{s=n+1}^{\infty} \left(1 + \frac{b(s)}{p} f(s) \right) \right]^{1/p}, \quad (2.2)$$

for $n \in N_0$, where

$$A(n) = \sum_{s=n+1}^{\infty} \left[f(s) \left(\frac{p-1}{p} + \frac{a(s)}{p} \right) + g(s) \right], \quad (2.3)$$

for $n \in N_0$.

Proof. Define a function $z(n)$ by

$$z(n) = \sum_{s=n+1}^{\infty} [f(s)u(s) + g(s)]. \quad (2.4)$$

Then (2.1) can be written as

$$u^p(n) \leq a(n) + b(n)z(n). \quad (2.5)$$

From (2.5) and using the elementary inequality (see [4,p.30])

$$x^{1/p}y^{1/q} \leq \frac{x}{p} + \frac{y}{q},$$

where $x \geq 0$, $y \geq 0$ and $1/p + 1/q = 1$ with $p > 1$, we observe that

$$\begin{aligned} u(n) &\leq [a(n) + b(n)z(n)]^{1/p} [1]^{1/p/(p-1)} \\ &\leq \frac{p-1}{p} + \frac{a(n)}{p} + \frac{b(n)}{p} z(n). \end{aligned} \quad (2.6)$$

From (2.4) and (2.6) we have

$$\begin{aligned} z(n) &\leq \sum_{s=n+1}^{\infty} \left[f(s) \left(\frac{p-1}{p} + \frac{a(s)}{p} + \frac{b(s)}{p} z(s) \right) + g(s) \right] \\ &= A(n) + \sum_{s=n+1}^{\infty} f(s) \frac{b(s)}{p} z(s), \end{aligned} \tag{2.7}$$

where $A(n)$ is defined by (2.3). Clearly $A(n)$ is nonnegative and nonincreasing function for $n \in N_0$. First we assume that $A(n) > 0$ for $n \in N_0$. From (2.7) we observe that

$$\frac{z(n)}{A(n)} \leq 1 + \sum_{s=n+1}^{\infty} f(s) \frac{b(s)}{p} \frac{z(s)}{A(s)}. \tag{2.8}$$

Define a function $v(n)$ by the right side of (2.8), then $\frac{z(n)}{A(n)} \leq v(n)$ and

$$\begin{aligned} v(n) - v(n+1) &= f(n+1) \frac{b(n+1)}{p} \frac{z(n+1)}{A(n+1)} \\ &\leq f(n+1) \frac{b(n+1)}{p} v(n+1), \end{aligned}$$

i.e.

$$v(n) \leq \left[1 + f(n+1) \frac{b(n+1)}{p} \right] v(n+1). \tag{2.9}$$

By setting $n = s$ and substituting $s = n, n + 1, \dots, m - 1$ ($m \geq n + 1$ is arbitrary in N_0), successively, we get

$$v(n) \leq v(m) \prod_{s=n+1}^m \left[1 + f(s) \frac{b(s)}{p} \right]. \tag{2.10}$$

Noting that $\lim_{m \rightarrow \infty} v(m) = 1$ and letting $m \rightarrow \infty$ in (2.10) we get

$$v(n) \leq \prod_{s=n+1}^{\infty} \left[1 + f(s) \frac{b(s)}{p} \right]. \tag{2.11}$$

Using (2.11) in $\frac{z(n)}{A(n)} \leq v(n)$, we get

$$z(n) \leq A(n) \prod_{s=n+1}^{\infty} \left[1 + f(s) \frac{b(s)}{p} \right]. \tag{2.12}$$

If $A(n)$ is nonnegative, then we carry out the above procedure with $A(n) + \epsilon$ instead of $A(n)$, where $\epsilon > 0$ is arbitrary small constant, and subsequently pass to the limit as $\epsilon \rightarrow 0$ to obtain (2.12). The desired inequality in (2.2) follows from (2.5) and (2.12).

We next establish the following inequality which can be used in certain situations.

THEOREM 2. Let $u(n)$, $a(n)$, $b(n)$ be nonnegative functions defined for $n \in N_0$, $F : N_0 \times R_+ \rightarrow R_+$ be a function which satisfies the condition

$$0 \leq F(n, u) - F(n, v) \leq G(n, v)(u - v),$$

for $u \geq v \geq 0$, where $G(n, v)$ is a nonnegative function defined for $n \in N_0$, $v \in R_+$ and $p > 1$ is real constant. If

$$u^p(n) \leq a(n) + b(n) \sum_{s=n+1}^{\infty} F(s, u(s)), \quad (2.13)$$

for $n \in N_0$, then

$$u(n) \leq \left[a(n) + b(n) B(n) \prod_{s=n+1}^{\infty} \left[1 + G\left(s, \frac{p-1}{p} + \frac{a(s)}{p}\right) \frac{b(s)}{p} \right] \right]^{1/p}, \quad (2.14)$$

for $n \in N_0$, where

$$B(n) = \sum_{s=n+1}^{\infty} F\left(s, \frac{p-1}{p} + \frac{a(s)}{p}\right), \quad (2.15)$$

for $n \in N_0$.

Proof. Define a function $z(n)$ by

$$z(n) = \sum_{s=n+1}^{\infty} F(s, u(s)). \quad (2.16)$$

Then as in the proof of Theorem 1, from (2.13) we see that the inequalities (2.5) and (2.6) hold. From (2.16), (2.6) and the conditions on F it follows that

$$\begin{aligned} z(n) &\leq \sum_{s=n+1}^{\infty} \left[F\left(s, \frac{p-1}{p} + \frac{a(s)}{p} + \frac{b(s)}{p} z(s)\right) - F\left(s, \frac{p-1}{p} + \frac{a(s)}{p}\right) \right. \\ &\quad \left. + F\left(s, \frac{p-1}{p} + \frac{a(s)}{p}\right) \right] \\ &\leq B(n) + \sum_{s=n+1}^{\infty} G\left(s, \frac{p-1}{p} + \frac{a(s)}{p}\right) \frac{b(s)}{p} z(s), \end{aligned} \quad (2.17)$$

where $B(n)$ is defined by (2.15). The rest of the proof can be completed by closely looking at the proof of Theorem 1 given above. Here we omit the further details.

3. Two independent variable generalizations

In this section, we establish two independent variable versions of Theorems 1 and 2 which can be used in the study of certain partial finite difference and sum-difference equations.

THEOREM 3. Let $u(m, n), a(m, n), b(m, n), f(m, n), g(m, n)$ be nonnegative functions defined for $m, n \in N_0$ and $p > 1$ is a real constant. If

$$u^p(m, n) \leq a(m, n) + b(m, n) \sum_{s=m+1}^{\infty} \sum_{t=n+1}^{\infty} [f(s, t)u(s, t) + g(s, t)], \tag{3.1}$$

for $m, n \in N_0$, then

$$u(m, n) \leq \left[a(m, n) + b(m, n)e(m, n) \prod_{s=m+1}^{\infty} \left[1 + \sum_{t=n+1}^{\infty} f(s, t) \frac{b(s, t)}{p} \right] \right]^{1/p}, \tag{3.2}$$

for $m, n \in N_0$, where

$$e(m, n) = \sum_{s=m+1}^{\infty} \sum_{t=n+1}^{\infty} \left[f(s, t) \left(\frac{p-1}{p} + \frac{a(s, t)}{p} \right) + g(s, t) \right], \tag{3.3}$$

for $m, n \in N_0$.

Proof. Define a function $z(m, n)$ by

$$z(m, n) = \sum_{s=m+1}^{\infty} \sum_{t=n+1}^{\infty} [f(s, t)u(s, t) + g(s, t)]. \tag{3.4}$$

Then (3.1) can be written as

$$u^p(m, n) \leq a(m, n) + b(m, n)z(m, n). \tag{3.5}$$

As in the proof of Theorem 1, from (3.5) we get

$$u(m, n) \leq \frac{p-1}{p} + \frac{a(m, n)}{p} + \frac{b(m, n)}{p}z(m, n). \tag{3.6}$$

From (3.4) and (3.6) we have

$$\begin{aligned} z(m, n) &\leq \sum_{s=m+1}^{\infty} \sum_{t=n+1}^{\infty} \left[f(s, t) \left(\frac{p-1}{p} + \frac{a(s, t)}{p} + \frac{b(s, t)}{p}z(s, t) \right) + g(s, t) \right] \\ &= e(m, n) + \sum_{s=m+1}^{\infty} \sum_{t=n+1}^{\infty} f(s, t) \frac{b(s, t)}{p}z(s, t), \end{aligned} \tag{3.7}$$

where $e(m, n)$ is defined by (3.3). Clearly $e(m, n)$ is a nonnegative and nonincreasing function for $m, n \in N_0$. First we assume that $e(m, n) > 0$ for $m, n \in N_0$. From (3.7) we observe that

$$\frac{z(m, n)}{e(m, n)} \leq 1 + \sum_{s=m+1}^{\infty} \sum_{t=n+1}^{\infty} f(s, t) \frac{b(s, t)}{p} \frac{z(s, t)}{e(s, t)}.$$

Define a function $v(m, n)$ by

$$v(m, n) = 1 + \sum_{s=m+1}^{\infty} \sum_{t=n+1}^{\infty} f(s, t) \frac{b(s, t)}{p} \frac{z(s, t)}{e(s, t)}, \tag{3.8}$$

then $\frac{z(m, n)}{e(m, n)} \leq v(m, n)$ and

$$\begin{aligned} & [v(m, n) - v(m + 1, n)] - [v(m, n + 1) - v(m + 1, n + 1)] \\ &= f(m + 1, n + 1) \frac{b(m + 1, n + 1)}{p} \frac{z(m + 1, n + 1)}{e(m + 1, n + 1)} \\ &\leq f(m + 1, n + 1) \frac{b(m + 1, n + 1)}{p} v(m + 1, n + 1). \end{aligned} \quad (3.9)$$

From (3.9) and using the facts that $v(m, n) > 0$, $v(m + 1, n + 1) \leq v(m + 1, n)$ for $m, n \in N_0$, we observe that

$$\begin{aligned} & \frac{[v(m, n) - v(m + 1, n)]}{v(m + 1, n)} - \frac{[v(m, n + 1) - v(m + 1, n + 1)]}{v(m + 1, n + 1)} \\ &\leq f(m + 1, n + 1) \frac{b(m + 1, n + 1)}{p} \end{aligned} \quad (3.10)$$

keeping m fixed in (3.10), set $n = t$ and sum over $t = n, n + 1, \dots, q - 1$ ($q \geq n + 1$ is arbitrary in N_0) to obtain

$$\begin{aligned} & \frac{[v(m, n) - v(m + 1, n)]}{v(m + 1, n)} - \frac{[v(m, q) - v(m + 1, q)]}{v(m + 1, q)} \\ &\leq \sum_{t=n+1}^q f(m + 1, t) \frac{b(m + 1, t)}{p}. \end{aligned} \quad (3.11)$$

Noting that $\lim_{q \rightarrow \infty} v(m, q) = \lim_{q \rightarrow \infty} v(m + 1, q) = 1$ and letting $q \rightarrow \infty$ in (3.11) we get

$$\frac{[v(m, n) - v(m + 1, n)]}{v(m + 1, n)} \leq \sum_{t=n+1}^{\infty} f(m + 1, t) \frac{b(m + 1, t)}{p},$$

i.e.

$$v(m, n) \leq \left[1 + \sum_{t=n+1}^{\infty} f(m + 1, t) \frac{b(m + 1, t)}{p} \right] v(m + 1, n). \quad (3.12)$$

Now by keeping n fixed in (3.12), setting $m = s$ and substituting $s = m, m + 1, \dots, r - 1$ ($r \geq m + 1$ is arbitrary in N_0) successively and noting that $\lim_{r \rightarrow \infty} v(r, n) = 1$, we obtain the estimate

$$v(m, n) \leq \prod_{s=m+1}^{\infty} \left[1 + \sum_{t=n+1}^{\infty} f(s, t) \frac{b(s, t)}{p} \right]. \quad (3.13)$$

Using (3.13) in $\frac{z(m, n)}{e(m, n)} \leq v(m, n)$ we get

$$z(m, n) \leq e(m, n) \prod_{s=m+1}^{\infty} \left[1 + \sum_{t=n+1}^{\infty} f(s, t) \frac{b(s, t)}{p} \right]. \quad (3.14)$$

If $e(m, n)$ is nonnegative, then we carry out the above procedure with $e(m, n) + \epsilon$ instead of $e(m, n)$, where $\epsilon > 0$ is an arbitrary small constant, and subsequently pass to the limit as $\epsilon \rightarrow 0$ to obtain (3.14). The required inequality in (3.2) follows from (3.5) and (3.14).

THEOREM 4. *Let $u(m, n), a(m, n), b(m, n)$ be nonnegative functions defined for $m, n \in N_0$, $L : N_0^2 \times R_+ \rightarrow R_+$ be a function which satisfies the condition*

$$0 \leq L(m, n, u) - L(m, n, v) \leq M(m, n, v)(u - v),$$

for $u \geq v \geq 0$, where $M(m, n, v)$ is a nonnegative function defined for $m, n \in N_0$, $v \in R_+$ and let $p > 1$ be a real constant. If

$$u^p(m, n) \leq a(m, n) + b(m, n) \sum_{s=m+1}^{\infty} \sum_{t=n+1}^{\infty} L(s, t, u(s, t)), \tag{3.15}$$

for $m, n \in N_0$, then

$$u(m, n) \leq \left[a(m, n) + b(m, n) E(m, n) \prod_{s=m+1}^{\infty} \left[1 + \sum_{t=n+1}^{\infty} \right. \right. \\ \left. \left. \times M\left(s, t, \frac{p-1}{p} + \frac{a(s, t)}{p}\right) \frac{b(s, t)}{p} \right] \right]^{1/p}, \tag{3.16}$$

for $m, n \in N_0$, where

$$E(m, n) = \sum_{s=m+1}^{\infty} \sum_{t=n+1}^{\infty} L\left(s, t, \frac{p-1}{p} + \frac{a(s, t)}{p}\right), \tag{3.17}$$

for $m, n \in N_0$.

The proof of this theorem follows by closely looking at the proofs of Theorems 2 and 3 given above. Here we omit the details.

4. An application

In this section, we present an immediate application of Theorem 1 to obtain the bound on the solution of a nonlinear sum–difference equation of the form

$$u^p(n) = g(n) + \sum_{s=n+1}^{\infty} h(n, s, u(s)), \tag{4.1}$$

where $p > 1$ is a real constant, $u, g : N_0 \rightarrow R$, $h : N_0^2 \times R \rightarrow R$ and

$$|g(n)| \leq a(n), \tag{4.2}$$

$$|h(n, s, u(s))| \leq b(n)f(s)|u(s)|, \quad 0 \leq s \leq n, \tag{4.3}$$

for $n, s \in N_0$, where a, b, f are as defined in Theorem 1. Let $u(n)$ be a solution of (4.1) for $n \in N_0$. From (4.1)–(4.3) it is easy to observe that

$$|u(n)|^p \leq a(n) + b(n) \sum_{s=n+1}^{\infty} f(s)|u(s)|. \quad (4.4)$$

Now a suitable application of Theorem 1 to (4.4) yields

$$|u(n)| \leq \left[a(n) + b(n)\bar{A}(n) \prod_{s=n+1}^{\infty} \left[1 + f(s) \frac{b(s)}{p} \right] \right]^{1/p}, \quad (4.5)$$

where

$$\bar{A}(n) = \sum_{s=n+1}^{\infty} f(s) \left(\frac{p-1}{p} + \frac{a(s)}{p} \right),$$

for $n \in N_0$. The right hand side of (4.5) gives the bound on the solution of (4.1) in terms of the known functions.

In concluding, we note that bounds obtained in Theorems 1–4 are independent of the unknown functions and will have many applications to boundedness, uniqueness, continuous dependence and other properties of the solutions of certain classes of finite difference and sum–difference equations. However, various applications of these inequalities will be given elsewhere.

REFERENCES

- [1] D. BAINOV AND P. SIMEONOV, *Integral Inequalities and Applications*, Kluwer Academic Publishers, Dordrecht, 1992.
- [2] F. S. DEBLASI AND J. SCHINAS, *On the stability of difference equations in Banach spaces*, An. Sti. Uni. "Al. I. Cuza" Iasi, Sect. I **20** (1974), 65–80.
- [3] A. MATE AND P. NEVAI, *Sublinear perturbations of the differential equation $y^{(n)} = 0$ and of the analogous difference equation*, J. Differential Equations **53** (1984), 234–257.
- [4] D. S. MITRINOVIĆ, *Analytic Inequalities*, Springer–Verlag, Berlin, New York, 1970.
- [5] B. G. PACHPATTE, *Discrete inequalities in two variables and their applications*, Radovi Matematički **6** (1990), 235–247.
- [6] B. G. PACHPATTE, *On certain new finite difference inequalities*, Indian J. Pure Appl. Math. **24** (1993), 373–384.
- [7] B. G. PACHPATTE, *Some new finite difference inequalities*, Computers Math. Applic. **28** (1994), 227–241.
- [8] G. PAPANICHOPOULOS, *On the summable manifold for discrete systems*, Math. Japonica **33** (1988), 457–468.

(Received October 19, 2000)

B. G. Pachpatte
57, Shri Niketan Colony
Aurangabad 431 001
(Maharashtra) India